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AHMEDABAD ARTS AND COMMERCE
COLLEGE

Assignment
B. Com Semester-5

Sub: Business Laws-1

Q-1 Define contract and explain in detail all the essential elements of valid contract.

Also explain different types of Contracts in detail.

Q-2 Define Consideration and explain legal rules of valid consideration. Explain the

rule “No consideration- No Contract” with its exceptions.

Q-3 Write the following Short Notes
a) Explain the types of customs duties in detail under Custom Act.
b) Definitions under Custom Act.: Goods, Dutiable Goods, Export, Import
c) Explain different types of Excise duty and Bases for charging Excise duty.

d) Definitions under Excise Act.: Factory, Manufacture, Manufacturer
Q-4 Discuss in brief the implied conditions and implied warranties in contract of sale
of goods. Also explain the rule “No seller can give to buyer a better title than what he

himself has.” with its exception.

0-5 Attempt the following Multiple-Choice Questions.

1 All contracts are agreements but all Agreements are not

a) Promise

b) Contracts

c) Offers

d) All of the above.

2. Acceptance of an offer
a) May be conditional
b) Must be conditional

c) May be unconditional
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d) Should be absolute and unconditional

3. An agreement with a minor is
a) Valid
b) \oid ab initio

c) \oidable agreement

d) Unenforceable agreement

4. Moral pressure is involved in the case of

a) Coercion.

b) Undue influence.
c) Misrepresentation.
d) Fraud.

5. Which of the following statement is true?
a) Athreat to commit suicide does not amount to coercion.
b) Undue influence involves use of physical pressure.
c) Ignorance of law is no excuse.

d) Silence always amounts to fraud.

6. An agreement in restraint of marriage, i.e., which prevents a person from
marrying, is
a) valid
b) voidable
c) void

d) contingent

7. A contingent contract dependent on the happening of future uncertain event
can be enforced when the event
a) Happens
b) Becomes impossible
c) Does not happen
d) Either of these
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8. On formation of new contract, (novation) parties get themselves discharged
from old contract.
a) True
b) False
c) Partly True Partly False
d) None of the above.

9. An anticipatory breach does not give any right to claim compensation
a) True
b) False
c) Partly True Partly False
d) None of the above.

10. Which of the following is included in the Quasi Contract?
a) Obligation to pay for non-gratuitous act.
b) Finder of goods
c) Mistake or coercion.
d) All of the above

11. Custom Duty is levied on
a) only exported goods
b) only imported goods
c) only import & exports both
d) On sale of goods within Country.

12. The Excise duty is levied on
a) goods manufactured in India
b) goods sold in India
c) goods sold outside the boundaries of India
d) Onimport & exports of goods
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13. The term “goods” under sale of goods Act, 1930 does not include
a) Goodwill
b) actionable claims
c) stocks and shares

d) harvested crops

14. C.1.F. contract includes

a) Cost, Interest & Freight charges

b) Cost, Insurance & Freight Charges

c) Courier, Interest & Freight charges

d) Clearing, Insurance & Forwarding charges.

15. The unpaid seller has right of stoppage of good in transit only where the buyer
a) become insolvent
b) refuses to pay prices
c) acts fraudulently
d) all of these
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AHMEDABAD ARTS AND COMMERCE
COLLEGE
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AHMEDABAD ARTS AND COMMERCE COLLEGE
S.Y.B.COM. SEM-5
ASSIGNMENT (ENGLISH MEDIUM)
SUB: COST AND FINANCIAL ACCOUNTING

Q-1 The product of x Itd passes through three processes before it is transfer to finished stock. From the
following information prepare all process account and other necessary account. Cost per unit working
is must require for all process:

Particulars Process - 1 Process - 2 Process - 3
1. Unit introduced (At Rs. 25.25 per 20 units) 40000 - -

2. Direct Labour (Per unit Introduced) Rs. 0.75 Rs. 0.65 Rs. 0.50

3. Direct expenses Rs. 7392 Rs. 10416 Rs. 13368
4. Indirect expenses (% on direct labour) 35% 40% 50%

5. Actual output (% on unit introduced) @) 88% Units
31500

6. Normal Wastage (% on unit introduced) 2% 4% (?

7. Selling price of normal wastage (per unit) - Rs. 2.50 Rs. 3

8. By-product (% on unit introduced) 5% - -

9. Selling price of by product At cost plus 10% - -

10. Abnormal gain - - 264 units

Q-2 . A certain product passes through three processes before it is transfer to finished stock. The output
of process A is transferred to process B at a price calculated to give a profit of 25% on the transferred
price and output of process B and C transferred to finish stock at a profit of 20% on the transfer price.

Particulars Process-A Process-B Process— C  Finished stock
Opening Stock 25000 30000 20000 75000
Direct Material 50000 52500 75000 -

Direct Wages 37500 37500 40000 -
Factory Overheads 35000 15000 100000 -
Closing Stock 12500 15000 10000 37500

Inter process profit for opening stock - 5000 5000 27500




Q-4

Stock in process are valued at prime cost from which it is received from Process C during the year.

Sales were Rs. 1000000.

Q-3. The balance sheet of two companies A Ltd. and B Ltd. as on 31-03-2022 are as under.

LIABILITIES A Ltd B Ltd ASSETS A Ltd B Ltd
Equity shares each of 10 1600000 600000 Fixes Assets 2200000 946000
12% p.s.c 10 each - 200000 Stock 500000 194000
Profit & loss ac 112600 71000 Debtors 250000 120000
Inv. Rebate Reserve 78000 25000 Cash and Bank 50000 80000
General Reserve 9220000 196000

12% Debentures - 50000
Creditors 200000 140000

Bills Payable 87400 58000

3000000 1340000 3000000 1340000

A Ltd decided to absorb the business of B Ltd. On 1-4-22 which following condition.
1. The equity shareholder of B Itd will be given fully paid up 70000 equity shares of A Itd of Rs. 10

each.

2. The Preference shareholder of B Itd will be given 12% 2200 preference shares of A Itd.

3. Debenture shareholder of B Itd will be given 15% 2200 New Debenture of A Itd. So that company

can receive the same amount of interest as per last year.

4. Investment Rebate reserve is to be kept for another two years.

Prepare balance sheet after amalgamation.

(&) Amalgamation is in the nature of merger.
(b) Amalgamation is in the nature of purchase.

Give journal entries in the book of the purchaser company on absorption with imaginary figures.

(1) In a process 2000 units were introduced; normal loss is 5% then units of normal loss —

(A) 100 units (B) 250 units (C) 300 units (D) 200 units
(2) Which items is not recorded in Process accounts?
(A) Wages (B) Salary (C) Material (D) Donation

(3) Transfer of production to subsequent process by adding 25% profit on transfer price means —




(A) 20% profit on cost (B) 25% profit on cost (C) 33.33% profit on cost (D) 40% profit on cost

(4) Production cost of first process is Rs. 20000 if profit is added 20% on transfer price what will
be the amount of profit?

(A) Rs. 2000 (B) Rs. 6250 (C) Rs. 5000 (D) Rs. 8000
(5) Net Assets - Capital Reserve=__

(A) Good will (B) Total Asset (C) Purchase consideration (D) None of these
(6) Net Assets + Good will =

(A) Capital Reserve (B) Total Asset (C) Purchase consideration (D) Total Liabilities.
(7) Net Assets /No of equity shares=_

(A) Yield value of share (B) Intrinsic value of share (C) External value of share (D) Face value of
share
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AHMEDABAD ARTS AND COMMERCE COLLEGE
ASSIGNMENT
B. Com. Semester-5
SUB.: Commercial Communication-5

Q-1 (A) Answer the following questions in brief:

(1) What announcement did M. Hamel make in the class?

(2) How had little Franz described M. Hamel's dress on that day?

(3) What, according to Dr. Ambedkar, are the three things we must do to
maintain democracy?

(4) How does Dr. Ambedkar view the principles of liberty, equality and
fraternity?

(5) Describe how the author has portrayed the appearance of the

washwoman?

(6) Why was the washwoman considered a ‘real find' by the narrator's

mother?

(7) Who was Dasa? Why did the family members tell him that they will
dismiss him from the job?

(8) How did Dasa become the hero of the day?

(9) Describe the first experience that Washington had of colour

discrimination.

(10) What feeling did Washington have at first sight of the Hampton

Institute

building?

Q1 (B) Write short notes on the following:

(1) The title of the story The Last Lesson

(2) Dr. Ambedkar’s views on maintaining democracy
(3) The Gentile Washwoman

(4) Dasa

(5) Washington’s struggle for an education

Q-2 Write a press report on any ONE of the following:

(1) A highway accident
(2) A devastating flood
(3) A cyclone



Q-3 Answer the following:

(1) Write a suitable letter to Life Insurance Corporation of India, Paldi
Branch, Ahmedabad, asking for a loan against an existing Life Insurance
Policy.

(2) Write a letter on behalf of a mediclaim policy holder to the Oriental
Insurance Company Limited, Ahmedabad, making a claim for a medical re-

imbursement of the mediclaim policy.

Q-4 (A) Answer the following questions, choosing from the options given:
(1) M. Hamel was going to ask questions on:

(a) pronunciation (b) participles

(c) pronouns (d) none of these
(2) The order had come from Berlin to teach only in the schools of
Alsace and Lorraine:

(@) German (b) English

(c) French (d) Russian
(3) M. Hamel had taught at the school for

(@) 50 years (b) 60 years

(c) 40 years (d) 25 years

(4) Political democracy can be achieved:
(a) by exercising political power  (b) with the help of social democracy
(c) by imposing strict law and order (d) all of the above

(5) To achieve our social and economic objectives:

(a) we must depend on competent rulers
(b) we must hold fast our constitutional methods
(c) we must wait for some revolution to happen
(d) all of these
(6) Equality without liberty:
(@) may kill individual initiative
(b) may bring social justice
(c) may help us to find the best political leader

(d) none of these



(7) The term ‘Gentile’ is used for a person who is a:

(@) non-Christian (b) non-Jewish

(c) non-atheist (d) non-Catholic
(8) The old waswoman had:

(a) three sons (b) two sons

(c) one son (d) one son and one daughter
(9) The ‘mother’ and the ‘washwoman’ used to converse in:

(@) English (b) German

(c) French (d) Polish
(10) According to the college-boy every year people die of snake-bite in
America.

(a) three hundred (b) thirty thousand

(c) fifty thousand (d) three lakhs

(11) Dasa could not keep the compound tidy because:
(@) he had other important things to do
(b) he was afraid of the snake
(c) he was asking for a grass cutter for a month
(d) he was not interested in doing so

(12) Which god’s name did the beggar woman mention?

(a) God Subramanya (b) God Vishnu

(c) God Shiva (d) God Krishna

(13) Where was the school of coloured people situated?
(a) Virginia (b) Boston
(c) Malden (d) Hampton

(14) What was the name of the school?
(a) Hampton National and Agricultural Institute
(b) Hampton Normal and Agricultural Institute
(c) Hampton School and Agricultural Institute

(d) none of these



(15) Why was the author unable to make a favourable impression upon the
teacher?

(@) he was not clean and tidy enough
(b) he was rude to the teacher
(c) he was not sincere enough

(d) he could not speak English well

Q-4 (B) State whether the statements are TRUE or FALSE:

(1) Franz came to school before the school started.

(2) Liberty, equality and fraternity cannot be treated as sepatrate items in
trinity.

(3) The old waswoman was a Jewish lady.

(4) When everybody got the news of the snake, Dasa was working in the
Kitchen.

(5) Apart from Washington’s mother, no one was supportive of his decision
to go to school.

Q-5 (A) Match the following:

A B
Debris Indefinitely
Ex officio Style of working
In camera Situation as it is now
Modus operandi By virtue of office
Proximo Wreckage
Sine die Privately
Status quo Of the last month

(B) Explain the following:

Alibi, Eureka, Front a front, Lacuna, Sub-judice, Senorita

*kkkk



AHMEDABAD ARTS AND COMMERCE COLLEGE
Assignment 2023-24
B.COM Semester-5
Sub: Economics (105)

Q:1 Answer the Following Question:

1. Discuss The Objectives and Characteristics of Planning in India.
2. Explain The Advantages and Disadvantages of Globalisation.

3.
4

. Explain The Meaning of Inflation and Discuss the Causes of Inflation in India.

Explain The Concept of Federal Finance.

Q:2 choose correct option:

1.Who Is Chairman of NITI Aayog?
(A) President (B) Prime minister (C) Chief Minister
2.When first five-year plan established in Indian economy?
(A) 1st April 1951 (B) 1st march 1950 (C) 1st July 1991
3.In second five-year plan which model applying in economic strategy?
(A) Harod-Domar model (B) P.C. Mahalnobin model (C) Adam smith model
4.Which criteria not included in economic reforms?
(A) Urbanization (B) Decentralized (C) all of two
5.Who was appointed finance commission?
(A) Prime minister (B) President (C) Finance minister
6. Inflation is measured by
(A) Consumer price index (B) Wholesale price index (C) Marshall’s index
7. Inflation is
(A)Long Term Process (B) Short Run Process(C)Uncertain



AHMEDABAD ARTS AND COMMERCE COLLEGE
Assignment 2023-34
B.COM Semester-5
Sub: Economics (105)
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AHMEDABAD ARTS AND COMMERCE COLLEGE

B. COM. SEM -V
MANAGEMENT ACCOUNT
ASSIGNMENT
ENGLISH MEDIUM

Q-1(A)
Q-1(B)

Q-1(C
Q-2(A)
Q-2(B)
Q-2(C)
Q-2(D)
Q-2(E)

What is Management Accounting? Give Scope and Functions of it.
Write difference between

0] Management Accounting and Cost Accounting

(i) Management Accounting and Financial Accounting
Explain characteristics of Financial statement and discuss the limitations.
Write difference between fund flow statement and cash flow statement
What is budgetary control? Explain objectives and limitations
Explain meaning, advantages and limitations of zero base budget.
Explain importance and limitation of ratio analysis
Write short note:

1. Utility of Cash Flow Statement

2. Production Budget

3. Sales Budget

4. Overhead Budget

Q — 3 On the basis of following data of X Ltd prepare common-size percentage table:

2012-13 Rs. \ 2013-14 Rs.
Fixed Assets:
Land & Building 720000 1470000
Furniture 600000 630000
Total Fixed Assets 1320000 | 2100000
Current Assets:
Cash & Bank Balance 240000 150000
Debtors 360000 300000
Stock 480000 450000
Total Current Assets 1080000 900000
Total Assets 2400000 3000000

Liabilities
Equity Share Capital 960000 1500000
Reserve and Surplus:
Profit & General Reserve 600000 600000
Shareholders’ Funds 1560000 | 2100000
Current Liabilities:
Provision for tax 120000 330000
Bills Payable 192000 270000
Creditors 528000 300000
Total Current Liabilities 840000 900000

Total Liabilities 2400000 3000000




Q — 4 From the following information of Bata Co., prepare statements showing Trend
Percentages:
Balance Sheets

Particulars 2012-13 Rs. | 2013-14 Rs. | 2014-15 Rs.
Fixed Assets:
Land & Building 500000 600000 650000
Plant & Building 300000 330000 360000
Plant & Machinery Furniture 200000 200000 260000
Current Assets:
Cash & Bank 80000 48000 112000
Stock 64000 51200 76800
Bills receivable 100000 100000 100000
Debtors 180000 216000 144000
Investments 210000 294000 126000
Prepaid Expenses 10000 16000 8000

1644000 1855200 1836800

Liabilities: share Capital

Equity Share Capital 600000 800000 800000
Pref. Share Capital 300000 300000 360000
Reserves and Surplus:

Profit & Loss Account 100000 90000 80000
Long-term Capital:

Debentures 150000 150000 225000
Current Liabilities:

Creditors 210000 252000 168000
Bills payable 50000 75000 50000
Provision for Tax 150000 79000 61400
Other current debts 84000 109200 92400

1644000 1855200 1836800

Q — 5 The following is the summarized Balance Sheet of Aashik Co. Ltd. As on 31-03-2015:

Liabilities Rs. Assets Rs.

Equity Share Capital 900000 | Fixed Assets 1170000
10% Pref. Share Capital 300000 | Debtors 250000
12% Debentures 100000 | Stock of Raw materials 40000
Retained Earnings 150000 | Stock of finished goods 60000
Creditors 100000 | Bills Receivable 12000
Bills payable 30000 | Advance to Staff 10000
Bank Overdraft 6000 | Cash at Bank 25000
Unpaid Expenses 14000 | Cash on hand 3000
Underwriting Commission 30000

1600000 1600000




Additional Information:

5.

Rate of Gross profit 40%
Net Profit (Before interest and 40% taxes) - Rs. 352000

. Total Credit Sales (80% of the total sales) — Rs. 1440000
4.

Opening Stock (Finished goods and raw materials) — Rs. 380000

Total working days are 360

Calculate the following rations:
Net Profit Ratio

1.

2
3
4.
5
6
7

Liquid Ratio

. Stock Turnover Ratio

Debtors Ratio

. Proprietary Ratio

Rate of Return on Equity Share Capital

Long term Funds and Fixed Assets Ratio

OR

Q -5 (A) Prepare cash budget for April to June 2017
(1) Cash balance on 01-04-2017 — Rs. 10000

)

Month Total Sales Rs. | Purchases Rs. | Wages Rs. | Overheads Rs.
February 100000 50000 20000 20000
March 75000 45000 18000 15000
April 112500 55000 24000 22500
May 150000 80000 25000 25000
June 87500 40000 21000 17500

(3) Assume 20% Cash and 80% Credit sales of total sales.

(4) 50% of credit sales are received in the next month after sales and remaining 50% is

(5) 2% Commission on sales is to be given in the next month after actual sales are made.

received in second month after sales

(6) Lag period is one month for suppliers

(7) Monthly depreciation on fixed assets of Rs. 5000 is included in Overheads.

(8) Lag period for Wages is ¥a month and Overheads %2 month.
(9) Dividend of Rs. 10000 for the year 2016-17 is to be paid in June.




Q - 5 (B) Following are the summarised Balance Sheets of A Co
and 31% March 2012. Prepare Cash Flow Statement.

Balance Sheets

. Ltd as on 31% March 2011

Liabilities 31-03- 31-03- Assets 31-03- 31-03-

2011 Rs. | 2012 Rs. 2011 Rs. | 2012 Rs.

Share Capital 200000 | 250000 | Land & Building 200000 190000
General Reserve 50000 60000 | Machinery 150000 169000
Profit & Loss A/c 30500 30600 | Stock 100000 74000
Bank Loan 70000 - | Debtors 80000 64200
Creditors 150000 | 135200 | Cash 500 600
Provision for 30000 35000 | Bank balance - 8000
Taxation Goodwill - 5000
530500 | 510800 530500 510800

Additional Information:

During the year ended 31 March, 2012:

=

Dividend of Rs. 23000 was paid

2. The following assets of another company were purchased for a consideration of Rs.
50000 paid for in shares.

Stock Rs. 20000; machinery Rs. 25000
3. Machinery was purchased for Rs. 8000

4. Depreciation written off:
Machinery Rs. 12000; land and Building Rs. 10000

5. Provision was made for income-tax Rs. 33000 during the year.

6. The loss on sale of machinery Rs. 200 was transferred to General Reserve.

Q-6 MCQ

1. The objective of Management Accounting is —

(@) Only to assist in preparing financial accounts

(b) Only to assist in the costing functions like cost control, to decide sales price etc.
(c) Toassist in preparing financial reports to present to the shareholders.

(d) To assist the managers by presenting the whole accounting data in suitable form.
Management Accounting —

(a) Depends on Financial Accounting

(b) Depends on Cost Accounting

(c) Depends on both Financial and Cost Accounting

(d) Is altogether different accounting method than financial and cost accounting



3. In Management Accounting, during assets valuation the assets are considered at their

(a) Basic Price

(b) Price After Depreciation

(c) Replacement Value

(d) Policy is not Decided

4. In management accounting internal audit is to be done —

(a) Compulsory once in a year

(b) Compulsory twice in a year

(c) Compulsory by the auditors nominated by government

(d) Voluntary

5. Which of the following reports is to be called Special Report?

(a) Report of daily consumption of raw materials

(b) Report of monthly wages of employees

(c) Report of replacement of machinery

(d) Report of region wise sale

6. Which of the following methods is not a tools and techniques of management
accounting?

(a) Standard Costing

(b) Historical Costing

(c) Unit Costing

(d) Marginal Costing



AHMEDABAD ARTS AND COMMERCE COLLEGE

B. COM. SEM -V
MANAGEMENT ACCOUNT
ASSIGNMENT
(GUJARATI MEDIUM)

Q-1(A)

Q-1(B)

Q-1(C
Q-2(A)
Q-2(B)
Q-2(C)
Q-2(D)
Q-2(E)
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Q-1(A)
Q-1(B)

Q-2(A)

Q-2(B)

Q-3(A)
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AHMEDABAD ARTS AND COMMERCE COLLEGE

B. COM. SEM -V
MARKETING MANAGEMENT
ASSIGNMENT
ENGLISH MEDIUM

Q-1(A)

Q-1(B)

Q-2(A)

Q-2(B)

Q-3
Q-3(B)

Q-4(A)

Q-4(B)

Q-4(0)
Q-5

Explain the objectives and Characteristics of customer relationship
management

What is Service Marketing? Explain the type and factors affecting
marketing of service

What is Retailing? Discuss characteristics and mention spread of retail
chain in India

Explain Types of retailing and discuss the factors responsible for the
spread of shopping malls in India.

Explain the meaning and importance of rural marketing

Explain the drivers of rural market and describe the distribution channels
in rural market.

Define the meaning of case study and discuss its characteristics

Explain importance and limitation of case study.

Explain SWOT analysis

MCQ

From which of the following is not included in primary economic activity
(section)?

(a) Animal husbandry (b) Agriculture

(¢) Construction (d) Mining
How many people of the world’s total population (approx.) are connected
with the different types of services?

(a) 82% (b) 73%
(c) 68% (d) 92%
Which is not included in trade and commerce related services?
(a) Banking (b) Insurance
(c) Grocery (d) Transportation
Which is not included in personal professional expert services?
(a) Dry Cleaners (b) Advocate
(c) Medical (d) Tailor
Which of the following is not included in public utility services?
(a) Electricity (b) Communication

(c) Theater (d) Water Supply



AHMEDABAD ARTS AND COMMERCE COLLEGE

ASSIGNMENT OF STATISTICS
BCOM SEMESTER V

UNITI
1) Define definite Integration and state its properties.

2) The marginal cost function of firm is MC = (2x+1)2. Find the total cost of 100 units if the
cost of producing one unit is Rs.22.
3) Integrate 1/(1+x?) for limit [0,1].
4) Evaluate [(x®+e*+e®) dx
UNIT I
1) What are Discrete Distributions? Explain Poisson and Hypergeometric distribution.
2) A deck of cards contains 20 cards: 6 red cards and 14 black cards. 5 cards are drawn

randomly without replacement. What is the probability that exactly 4 red cards are
drawn?

3) Fit a Poisson distribution to the following data
No of accidents |0 |1 |2 |3 |4
No of days 4525|118 |8 |4

UNIT I
1) Distinguish between Variable Charts and Attribute Charts.

2) Draw variable charts for the following data where each sample consists 4 observations.

Sampleno 12|34 |5 |6 |7 |8 |9
Average 8171910 (13 |14 |18 |20 |17
Range 517|/6|8 |4 |6 |8 |9 |7

3) Draw an appropriate chart for the following data of number of defects in a specific
product.

5,6,7,2,4,3,8,2,7,5,4,6,9,10,4,8,7,6,3,2,5,1,5,8,4
UNIT IV

1) Define Producer’s risk, Consumer’s risk, ASN, AOQ and API.
2) Explain OC curve. State its properties.
3) In alot of 25000 units 1500 are defective. If SSP is (25000,100,4) find AOQ, ATl and ASN.
4) Which of the following plans is better for a consumer?

a. (50,8,0), LTPD is 8%

b. (1000,100,2), LTPD is 4%



AHMEDABAD ARTS AND COMMERCE COLLEGE
ASSIGNMENT OF STATISTICS
BCOM SEMESTER V

UNIT |
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